PAPER CODE 2016 (A) D
SSC PART-l (9th CLASS)

NUMBER: 5121

GEOGRAPHY OBJECTIVE (%% S22
TIME ALLOWED: 20 Minutes w20 =
MAXIMUM MARKS: 15 15= AF
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Note: You have four choices for each objective type queétion as A, B,CandD. -q)::d’?;;.:«wr{,;{.gly

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question, Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 - Ay
(1) With the increase in temperature, the process of evaporation becomes:- -gt‘m)f K;:’;C,LMMLJQJV,._») ¢
(A) Less ¢ (B) More ss( (C) Finished ¢ (D) None of these /et
(2) Kinds of Tides are:- -ugrQlJ/;Zu )]
(A) 1 (B) 2 (C) 3 (D) 4

(3) Ibn-e-Idrisi was born in:- -Z_xl/:;ufmw 3)
(A) Lahore (sl (B) Hyderabad Js\T4> (C) Morocco ui'uyl/ (D) USA ¢

(4) Polar diameter of Earth is:- -1 IR
(A) 12704.5 kms (B) 11000 kms (C) 500 kms (D) 900 kms

(5) Depth of Mariana Trench is:- -‘Lélﬁ'( it f;//‘,:pt; (5)
(A) 900 metres (B) 800 metres - (C) 1000 metres (D) 12000 metres

(6) Arctic Ocean remain freezed in a year for:- _{_Q/»?:)utdvdiﬁuef- (6)
(A) 6 months sz (B) 7 months sb=l-  (C) 8 months slo#T (D) 9 months ol 7

(7) Name of the famous book of Ibn-e-Batoota is:- -%(tKVCCxPJ,Lk’w 7
(A) Kitab-ul-Hind 4/ (B) Rehla J (C) Shape of the earth =.+*§2; (D) Al-Qancon /5G!

(8) The shortest distance between the earth and the sun is in:- -%bﬂﬁﬁ[c.(&(y}f(dzj (8)
(A) January =52 (B) February (s} (C)June e uz (D) July < duz

(9) The biggest planet of the solar system is:- _‘cuyz‘—_.,/v f}w (9)
(A) Jupiter 7 (B) Earth (C) Pluto s (D) None of these (%t

(10) The smallest planet of the solar system is:- -c‘:—u,lrt‘:%’a-./(tftg"wj (10)
(A) Mercury sl (B) Earth ¢ (C) Venus o/ (D) Piuto s

(11) Equatorial diameter of earth is:- - /33!}”%/.‘.’ J 11
(A) 12746 kms (B) 1200 kms (C) 1100 kms (D) 900 kms

(12) Total area of surface of earth is approximately:- -9-(_4/:.34){ Vildldﬁi (12)
(A) 315,200,000 square kms (B) 200,000,000 square kms
(C) 300,00 square kms (D) 100,000 square kms -

(13) Minimum of ____ population of the world iives in plains. < SUWEUIeOT _ fSe (13)
(A) 70 % (B) 80 % (C) 90 % (D) 40 %

(14) The volume of Nitrogen in atmosphere is:- ,q_:ﬁ:‘(?s&u@}fw!&m/ (14)
(A) 97 % (B) 99 % (C)78 % (D) 78.08 % ‘

(15) Atmospheric pressure can be measured with:- -< Jlgur Jng ] L)Lln (15)

(A) Barometer s« (B) Thermometer ~| /;' (C) Lactometer /"-’.'}g (D) Richter Scale J:C/‘-.(/
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2016 (A)
SSC PART- (Sth CLASS)

<

GCOGRAPHY - SUBJECTIVE J¥L»o ‘
TIME ALLOWED: 2.10 Hours 210 = =
MAXIMUM MARKS: 60 60 = AF

NOTE: - Write same question number ..c..bmﬂq,./.ﬂfﬁc{ CJ)A/A‘/UVCT‘:/Q(GBZ -y
and its part number on answer book, as given in the question paper.
SECTION-l (Jilo

2. Attempt any six parts. 12=2x6 - ferlinge 8 250
(i) ~ Name two currents of the Pdcific ocean. , u“',g’tﬁuwm;u“é’f @
(i)  Expiain what is Standard Time? ool LS (i)
(i) Explain GMT briefly. ' _EE L oMT i)
(v)  Define Coastal Plain. _EaMowd W)
(v)  Explain Evaporation. -é‘fz/-:«’l—‘”(f/?y (v)
(vi)  Define Hydro Geography. ' ~ESSaRgT i)
(viy  Atwhat age Ibn-e-Batoota started travelling? WO IEASIE L bt (vil)
(viii)  What is Solar Eclipse? : &f_m‘gﬂ;ﬁf Lo (viii)
(ix)  Whatis Denudétion? Explain. ol ":—b’nl«'/d/(ulr/f (ix)
3. Attempt any six parts. 12=2x6 _4{//..«&!_?&!7&?443,( -3 /‘U’r‘ |
(i)  Define Lines of Longitude. SE Ak )
(i)  Explain Glacier, el )
(i)  Whatis Tsunami? SebalfUty (i)
(iv)  Explain Extinct Volcanoces. -,&."(-"—-’U)Julf'jtﬁ [ ()
(V) Whatis insolation? AL St )
(vi)  Explain Sea Breeze. | -5{&&:(,(6]1(3 (vi)
(vii)  Define Land Breeze. “EISSE Wi
(vii)  Explain Volcanic Mountains. oSy T (i)
(ix)  Define Cartography. _E IS ."J’f)‘ (ix)
4. Attempt any six parts. 12=2x6 ez lizige 8 4 Sl
(i) Define Planetary Winds. ‘ Ay Susinds (i)
(i) What is Homosphere? Explain. -g{.vu, ?q,bngf/t"x‘x (i)
(iiy  Define Active Volcanoes. S }’Uul’»f i (iii) |
(iv)  How are days and nights formed? ‘ s enlys (i)
v) Expiain International Date Line. _gg :)L’o)u( .&/tb‘ul " )
(viy  Explain Atmospheric Pressure. . -5’5 .:.-»LE;J 3 @;Lémo/ (vi)
(vii)  Define Spring Tides. el e (Vi)
(viii)  Write some factors which affect temperature. -JJ’:’»’:LJ:LMMI}I{@/V..») (viii)
(ix) Explain Block Mountains. ‘ _éwu,ﬁ%UJQ (ix)
SECTION-II (232 .
NOTE: - Attempt any three questions. 24 =8x3 el et 3 o
5. Write scope and importance of Geography. -4U M‘»’ww(—é’/‘? -5
8. Write the branches of Human Geography in detail. -4%.;}:.‘;‘7 o Lﬁ(f,jl}?&w -6
7. Write the effects of mountains on Human Life. -ﬁo!}lgﬁ)éuléuﬁb,g -7
8. Write about river in detail. ' _40‘:,():‘”&:4.195@ -8
9. Write effects of oceans and seas on Hurnan Life. _ -4@,!5!4&J(3'Ul£uuﬂ -9
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PAPER CODE 2016 (A)
SSC PART- (Sth CLASS)

NUMBER: 5121

GEOGRAPHY ~ OBJECTIVE (5.

TIME ALLOWED: 20 Minutes o e 20 = o
MAXIMUM MARKS: 15 15= AF
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Note: You have four choices for each objective type question as A, B, C and D. _q)fsd’}g;al}lr{,“‘!lr
The choice which you think is correct, fill that circle in front of that question number. Use marker ‘or pen
to fili the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 R

(1) With the increase in temperature, the process of evaporation becomes:- .4‘-_.1':,%()’f K}LLm:L)aﬂ/g» n
(A) Less ¢ (B) More »slJ (C) Finished (D) None of these A /et |

(2) Kinds of Tides are:- -ujrlﬁlJJu 2
(A) 1 . (B) 2 C) 3 (D) 4

(3) Ton-e-ldrisi was born in:- “slgenled  (3)
(A) Lahore <. (B) Hyderabad %7 (C) Morocco u&f/l/ (DY USA g /!

(4) Polar diameter of Earth is:- -4‘-/50{5 (09 (4)
(A) 12704.5 kms (B) 11000 kms (C) 500 kms (D) 900 kms |

(5) Depth of Mariana Trench is:- -q—tj'[ it é/'éM (5)
(A) 900 metres (B) 800 metres (C) 1000 metres (D) 12000 metres

(6) Arctic Ocean remain freezed in a year for:- _.;_a/ﬁu:Judaﬁw."/. (6) "
(A) 6 months ol (B) 7 months st (C) 8 months hFT (D) 9 months sl

(7) Name of the famous book of Ibn-e-Batoota is:- -‘Lrwvl:(w’” Sbi ‘ )
(A) Kitab-ul-Hind 4/I_0" (B) Rehla b (C) Shape of the earth et (D) A-Qanoon ysG :

(8) The shortest distance between the earth and the sun is in:- -‘Lt‘:dwliﬂ;.ﬁ, Lkt (8)
(A) January = (.32 (B) February = s/ (C)June =y (D) July < Juz

(9) The biggest planet of the solar system is:- ‘ -‘auy‘/.cqﬁf‘?w? (9)
(A) Jupiter J7* (B) Earth ¢ (C) Pluto 4 (D) None of these UASisetu

(10) The smallest planet of the solar system is:- —c;-u,lrt’:‘é’c—-/ﬁf“;’ B (10)
(A) Mercury ks (B) Earth %) (C) Venus s (D) Pluto 7% |

(11) Equatorial diameter of earth is:- -4‘-/""3’;’ ess (1)
(A) 12746 kms (B) 1200 kms (C) 1100 kms (D) 900 kms

(12) Total area of surface of earth is approxirnately:- _‘aig/:};f( C/ij (12)
(A) 315,200,000 square kms (B) 200,000,000 square kms '
(C) 300,00 square kms (D) 100,000 square kms

(13) Minimum of ____ population of the world lives in plains. e SUSUI ST ﬂlﬂf Ly €13)
(AY70 % (B) 80 % (C)90 % (D) 40 % |

(14) The volume of Nitrogen in atmosphere is:- -4‘_:2421;&&, }v’tui'élm/ (14)1
(AY 97 % (B) 99 % (C)78 % (D) 78.08 %

(15) Atmospheric pressure can be measured with:- -QGQJJ&J $lin (15)

(A) Barcmeter Az (B) Thermometer AL /3 (C) Lactometer /‘-f#g (D) Richter Scale J:c}.rj
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2016 (A)

« SSC PART-l (9th CLASS)
GEOGRAPHY SUBJECTIVE _~{i»
TIME ALLOWED: 2.10 Hours ' : 52.10

MAXIMUM MARKS: 60 ' _ 60
NOTE: - Write same question number .vc"_,(yuu’:a,_{,}ffﬁ{g Zy»/:":?z;k‘dbf(ﬁ;{{é((}b? -2

and its part number on answer book, as given in the question paper.

SECTION-l Jslo

2. Attempt any six parts. 12=2x6 & e lizge 8 250y
0} Name two currents of the Pacific ocean. u“?téumwé / 0) |
(i) Explain what is Standard Time? -g;’_au, ?ujc,i/éa,d/y» (i)
(iiy  Explain GMT briefly. SEEW 1A oMT i
(iv)  Define Coastal Piain. _g:{.g /‘"d/ulgd’ L) :
(v}  Explain Evapora;tion. _ ~s{—‘>’u!d//3’y V)
(viy  Define Hydro Geography. “E5nRT Wi
(vii) At what age Ibn-e-Batoota started travelling? ?(;'/C:/“/”u:/JJVZZ L LHt (vii)
(viii)  What is Solar Eclipse? ?c‘:_t'yrl[cﬂf Gy (viii)
(x)  Whatis Denudation? Explain. ~Eeols bl (%)
3. Attempt any six parts. 12=2x6 -é{fatlzé!?.!gcéf -3 A
()  Define Lines of Longitude. o : “E S EE )
(i)  Explain Glacier. | bl Gy
(i) Whatis Tsunami? S bt (i)
(iv)  Explain Extinct Volcanoes. } _sg-;(wu,rfulﬁf Ty (V)
(v)  Whatis Insolation? ot é'féf Lft:'-‘r)‘»:' V)
(vi)  Explain Sea Breeze. v -g—fyu;gfdﬁ(f (vi)
(viiy  Define Land Breeze. | -éJde‘:rﬁj (vii)
(viii)  Explain Yolcanic Mountains. e lbadUrlgus T (i)
(ix)  Define Cartography. -éJfo ."ﬁ"H‘ (ix)
4. Attempt any six parts. 12=2x86 -cf:/fuuiél?hfa.df -4 A
(i) Define Planetary Winds. - ' -éJ/meJ Is 0 .
(i) What is Homosphere? Explain. -Q{ww ?q..lmg //x,’x (i) -
(i)  Define Active Volcances. A ~Ew s i) |
(iv)  How are days and nights formed? ‘ s el (iv) |
(v) Expiain International Date Line. -g‘:\.‘.‘)l}:(f ?}Nb’«f b (v
(vi)  Explain Atmospheric Pressure. -g»f.;»u,o’ 3 Q:L(,ilm/ (vi)
(vi)  Define Spring Tides. ol Uies  (vil)
(viii)  Write some factors which affect temperature. _4@'!;{2_4,4'_”)!;!}!4@/'/,?/; (viii)
(ix)  Explain Block Mountains. _é&u;p(}l,g!i.f& (ix)
SECTION-II (A2 -

NOTE: - Attempt any three questions. 24=8x3 -g{j.;,yzéh«,uwf‘:.éf oy |
5. Write scope and importance of Geograpiy. : -leu'&”:d/éw -5
6. Write the branches of Human Geography in detai. -;.“dc,d:‘ﬂ. Y OJ,}I/‘Q&UI 6
7. Write the effects of mountains on Human Life. _.;{q-.-,!}taﬁ}z‘duléuﬁgg -7
8. Write about river in detail. ~ _%‘.’Uc—,g}:" &:4_4&5» -8
9. Write effects of oceans and seas on Human Life. -Jal}!aﬁjéuléuuﬂ -9
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PAPER CODE 2016 (A) \“:‘\;\ g
NUMBER: 5121 SSC PART- (9th CLASS) \\\\
GEOGRAPHY 'OBJECTIVE (%0 S \
TIME ALLOWED: 20 Minutes | w20 = o |

© MAXIMUM MARKS: 15 ) o - T 15= AF

fo ok SIS QL N2 e L sl s g Q6317 -t L LD 11 C B A MRy Ly k)
V1 -b’ng&:uf}.)éfgﬂoszL/’::i Bubbles -vat/)‘?w‘,«’ﬁuﬁdou‘(!l./’z Sk L LS s mlie LI s
A LS ey a gy

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

Note: You have four choices for each objective type question as A, B, C and D.

to fill the circles. Cutting or ﬁuh{g two or more circles will result in zero mark in that question, Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 | Ay

(1) With the increase in temperature, the process of evaporation becomes:- ..c‘_,t'nd’f K/.’.‘Z:.Lm;yo/l/g» (1)
(A) Less ¢ (B) More s} (C) Finished (D) None of these A et

(2) Kinds of Tides are:- VIl (@)
(A) 1 (B) 2 (C) 3 D) 4 .

(3) Ibn-e-ldrisi was born in:- il Sl @)
(A) Lahore 2l (B) Hyderabad (%:LTu> (C) Morocco £ (D) USA Ui /!

(4) Polar diarﬁeter of Earth is:- : -‘4)30%’; 109 (4)
(A) 12704.5 kms (B) 11600 kms (C) 500 kms (D) 900 kms

(5) Depth of Mariana Trench is:- | -{.Jl/f J é};L/L (5)
(A) 900 metres (B) 800 metres (C) 1000 metres (D) 12000 metres

(6) Arctic Ocean remain freezed in a year for:- ‘%a/fuidbdf‘ﬁ (6) :
(A) 6 months elg - (B) 7 months sl (C) 8 months ol #T (D) 9 months ol s ‘ ‘

(7) Name of the famous book of Ibn-e-Batoota is:- | T U @
(A) Kitab-ul-Hind &/ (B) Rehla b (C) Shape of the earth =2, (D) Al-Qanoon su

(8) The shortest distance between the earth and the sun is in:- —etukobife (o tabets  (8)
(A) January « (.52 (B) February « (s - (C)June =2 (D) July c,dw

(9) The biggest planet of the solar system is:- , -r_uu/c._./( 6?0:1 (9)
(A) Jupiter > (B) Earth 2 (C) Pluto s% (D) None of these S%0se Lt

(10) The smallest planet of the solar system is:- vl oK gf':uv (10) -
(A) Mercury s/l (B) Earth () (C) Venus s (D) Pluto 9%

(11) Equatorial diameter of earth is:- -{..)331}"!&}.‘.'1 1)
(A) 12746 kms (B) 1200 kms (C) 1100 kms (D) 900 kms .

(12) Total area of surface of earth is approximately:- -c‘.ﬂg):}zgfb’ 5&711‘ (12).
(A) 315,200,000 square kms (B) 200,000,000 square kms
(C) 300,00 square kms ' (D) 100,000 square kms R

(13) Minimum of _____popuilation of the world iives in plains. -.;_674,;.’1‘_}:"14_4547 . ﬂlﬂf ') (13)
(A) 70 % (B) 80 % (C) 90 % (D) 40 %

(14) The volume of Nitrogen in atmosphers is:- -ﬁ-.:;.'rﬂ;&gf:/”tuf Jlmf (14)
(A) 97 % (B) 99 % (C)78 % (D) 78.08 %

(15) Atmospheric pressure can be measured with:- -4.8@JJ’7}3J ] pém (1 5)l

(A) Barometer /<y

97(0bj)-2016(A)-50

(B) Thermometer i (C) Lactometer 29 (D) Richter Scale <55,
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2016 (A)
SSC PART- (Sth CLASS)

GEOGRAPHY , SUBJECTIVE _~&lLo
TIME ALLOWED: 2.10 Hours 210 = =
MAXIMUM MARKS: 60 | . 60 = A5

NOTE: - Write same question nuraber wc.;.fw;uf%.{,.giy‘.ﬁ?é{ @J)ﬁ‘?‘/?/)lﬁ’diﬂﬁ:{(éﬁ}fﬁ -
and its part number cn answer hook, as given in the question paper.

SECTION- Jslo

2. Attempt any six parts. 12=2x6 -4’:/futb7£lliic,8f ..2/‘)‘)’
() ~ Name two currents of the Pacific ocean. u",@téu»w«fdb?'f 0]
(i) Explain what is Standard Time? A ‘-‘q{ﬁéa;d;yv (i)
(i)  Explain GMT briefiy. S oMT Gy
(ivy  Define Coastal Plain. _é’,{._g}"'\fulg& Lo (iv) .
(v)  Explain Evaporation. -g,{uu:&é‘-vf v
(vi)  Define Hydro Geography. ' SR i)
(vii)y  Atwhat age Ibn-e-Batoota started travelling? ‘.’y’(,;/“jfu.‘/g{dbé"f LbH  (vily
(viii)  What is Solar Eclipse? S bl Ly (i) |
(ix)  Whatis Denudation? Explain. izl S byl UUUL A
3. Attempt any six parts. | 12=2x6 --ff;f.;,pzémgc.éf -3 /',”U’/ |
()  Define Lines of Longitude. ~EAhIRE )
(i)  Explain Glacier, oS i)
(i)  Whatis Tsunami? ?ﬁ:.bng(,‘ (7 (11)]

" (iv)  Explain Extinct Volcanoes. -,é’a»unfulﬁf Ty (iv)
(v)  Whatis Insolation? ?ugé":df o’j ;:JV" v)
(vi)  Explain Sea Breeze. -éy&:g{df-(f (vi)
(viiy  Define Land Breeze. ‘ : S -é.é//"ifd/.(:j (vii)
(viii)  Explain Volcanic Mountains. » -éyu;g,(w/‘%u&‘f T (viii)
(ix)  Define Cartography. L E S ,':3")‘ (ix)
4. Attempt any six parts. 12=2x6 E felinge 8 -4 S
()  Define Planetary Winds. ' “Ew flusmds o)
(ii) What is Homosphere? Explain. -g{.:»u; ‘."gtrntf ﬁ"xfk (i)
(i)  Define Active Volcanoes. ‘ -gf -3 /Jul‘)f s (i)
(v}  How are days and nights formed? ?%222_4::!//,10) (iV)
(v) Explain international Date Line. | -;J_wu,J .Gjt'b'o) " (v)
(vi) Explain Atmospheric Pressure. -é&&;& 5;;./.(3!;4»/ (vi)
(vii)  Define Spring Tides. v -éwu:&q/igu (vii)
(viii)  Write some factors which affect temperature. -JJIIJ:LI)Lyr/'ul}f{u:«ﬂ};.w (viii)
(ix)  Explain Block Mcuntains. ,éf&b;(ﬂlig&fw (ix)

SECTION-II (33 ‘ -
NOTE: - Attempt any three questions. 24=8x3 -g;"“/f"c.,gsz.ﬂammfc_.éf Y
5. Write scope and importance of Geography. v -46 c‘:ﬂw'c«*":&é'/‘? -5
8. Write the branches of Human Geography i detail. -gch_g}:.‘{jff;&dlgl/‘?&ul -6
7. Write the effects of mountains on Human Life. -40.;!}!4&)(}&&();)% -7
8. Write about river in detail. -Jad:“’ :j.‘.'g./;LL» -8
9. Wirite effects of oceans and seas on Human Life. -.»,‘."Lt}l{(fjijéulﬁuuﬂ -9
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PAPER CODE 2016 (A)

SSC PART- (9th CLASS)

NUMBER: 5121

GEOGRAPHY OBJECTIVE (% .
TIME ALLOWED: 20 Minutes | .‘ o220 = o
MAXIMUM MARKS: 15 15= A

Hfe F L LU;/"J:GWJWLVLV.M/)‘;U: u:f':if::_.)&bédlr/zaéwfﬁ ..u]ic:..) D s CB:-A :;U;Z;@QLJV/: -
J1 -{ngg:‘jﬁ{%gjfgﬁaszL/Q‘é Bubbles -b’mr"bliywuﬂgﬁozf(;i.& Sk | &S s tmskie gl -2
Note: You have four choices for each objective type question as A, B, C and D. -qﬁd’fﬂ.-.uw{,“.gv
The choice which you think is cc?rrect, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 : -1 /.‘Ulr

(1) With the increase in temperature, the process of evaporation becomes:- -c;_lmdf b/ﬁ.:?c';_ﬁ'up-:aﬂ/g» (1)
(A) Less ¢ (B) More 5L (C) Finished (D) None of these (/e Lt

(2) Kinds of Tides are:- GBSz ()
(A) 1 ' (B) 2 (©) 3 (D) 4 :

(3) Ibn-e-Idrisi was born in:- g SenleH (3
(A) Lahore sl (B) Hyderabad (%:lT.4> (C) Morocco u.‘.'(fvl/ (D) USA = /! |

(4)' Polar diameter of Earth is:- -‘cjﬁo‘-'; (O @
(A) 12704.5 kms (B) 11000 kms (C) 500 kms (D) 900 kms

(5) Depth of Mariana Trench is:- -{-(3'/:( Gzt (5)
(A) 900 metres (B) 800 metres (C) 1000 metres (D) 12000 metres

(6) Arctic Ocean remain freezed in a year for:- -q—t'uxfdfu’b‘dﬂf’%?/{ 6)
(A) 6 months sl7 (B) 7 months sb=l-  (C) 8 months »l.#T (D) 9 months ols

(7) Name of the famous book of Ibn-e-Batoota is:- ot b @
(A) Kitab-ul-Hind 40" (B) Rehla (C) Shape of the earth =.»*Su2; (D) Al-Qanoon /56!

(8) The shortest distance between the earth and the sun is in:- _:‘_t'waGH:;_ﬁ:«.amKuﬁJ (8) |
(A) January « ($s3? (B) February <./ (C)June < ys (D) July ;Jvz

(9) The biggest planet of the solar system is:- -q._u_lrl‘/.c;qu?w} 9) |
(A) Jupiter ;-7 (B) Earth (C) Pluto i)}. (D) None of these utiféfc.ui’ul

(10) The smallest planet of the solar system is:- -;.u_lﬂ‘:{c..,z(f?lﬁ (10)
(A) Mercury s/l (B) Earth %) (C) Venus »zJ (D) Pluto s

(11) Equatorial diameter of earth is:- -‘4/'36’5‘" s (1)
(A) 12746 kms (B) 1200 kms (C) 1100 kms (D) 900 kms

(12) Total area of surface of earth is approximately:- -‘a[c/i}afb’ t/d/ut/‘ (12)
{A) 315,200,000 square kms (B) 200,000,000 square kms
(C) 300,00 square kms (D) 100,000 square kms -

(13) Minimum of ____ population of the world lives in plains. e SUWEUIr AT /A[J L (13)
(AY70 % (B) 80 % (C) 90 % (D) 40 %

(14) The volume of Nitrogen in atmosphere is:- -q_:zr'(fkls’:cﬁ:}ftufélm/ (14) i
(A) 97 % (B) 99 % (C)78 % (D) 78.08 %

(15) Atmospheric pressure can be measured with:- -« BbJJjL;J 3 I,)LM (15) .

(A) Barcmeter X3z  (B) Thermometer XL # (C) Lactometer T (D) Richter Scale J&45,
97(0bj)-2016(A)-50 (MULTAN)
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' SSC PART-l (9th CLASS)
GEOGRAPHY , SUBJECTIVE _&i»

TIME ALLOWED: 2.10 Hours

MAXIMUM MARKS: 60

210 =

60 =

NOTE: - Write same question number -Q:.(yz)uﬁ%.{é’ffi.’é Zw)/'.";?.'u!/:‘uiﬂﬁ:{(éb/(}lﬁ

and its part number on answer book, as given in the question paper.

SECTION-l sl
2. Attempt any six parts. 12=2x6

() Name two currents of the Pacific ocean.

(i) Explain what is Standard Time?

(iiy  Explain GMT briefiy.

(iv)  Define Coastal Plain.

(v) Explain Evaporétion.

(viy  Define Hydro Geography. v

(vii)  Atwhat age Ibn-e-Batoota started travelling?
(viii) What is Solar Eclipse?

(ix)  What is Denudation? Explain.

3. Attempt any six parts. 12=2x6
(i) Define Lines of Longitude.

(i) Explain Glacier.

(iiiy  Whatis Tsunami?

(iv)  Explain Extinct Volcanoes.

(v) What is Insolation?

(vi)  Explain Sea Breeze.

(vii) Define Land Breeze.

{viiiy  Explain Volcanic Mountains.

(ix)  Define Cartography.

4. Attempt any six parts. 12=2x6
(i) Define Planetary Winds. |

(i) What is Homosphere? Explain.

(i)  Define Active Volcanoes.

(ivy  How are days and nights formed?

v) Explain International Date Line.

(vi)  Explain Atmospheric Pressure.

(vii)  Define Spring Tides.

(viii)  Write some factors which affect temperature.

(ix)  Explain Block Mountains.

SECTION-Il (5.2

NOTE: - Attempt any three questions. 24=8x3

5. Write scope and importance of Geography.

8. Write the branches of Human Geography in detail.
7. Write the effects of mountains on Humar Life.

8. Write about river in detail.

9. Write effects of oceans and seas on Human Life.

97-2016(A)-50
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PAPER CODE 2016 (A)

SSC PART-l (9th CLASS)

NUMBER: 5121

GEOGRAPHY | OBJECTIVE (% | SR
TIME ALLOWED: 20 Minutes L e 20s oy
MAXIMUMMARKS; 15 . . | 5= A4S

fe &L S /l:.cb»*dlbfﬁuii..//m_gﬁu: f':zfc..:d.bﬁdlr/{céb’dlf -u":fc.; D . CBA u&b’.f/yﬁcﬂr/ oy
-f;bt;u”/dfufuszL/.,4 Bubbles  _fmyaib izl tenm Sl Sl Sk | L.f,‘fu:/lmt)c.uf &
Note: You have four choices for each objective type question as A, B, C and D. ,J/ J’f ..,uw,;/,gu«
The choiée which you think is correct, fill that 'cir&:‘Ie in *ront of that question number Use marker or pen
to fill the circies. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) With the increase in temperafdré, the process of evaporation becomes:- «;.t:mf b’/.:"}_i_xa:po/lfe): (1) |
(A) Less (B) More 1) (C) Finished (D) None of these ASS/e b

(2) Kinds of Tides are:- “GVIEze (2)
w1 (®) 2 ©) 3 (D) 4

(3) Ibn-e-Idrisi was born in:- : . ' AR (3)
(A) Lahore msni (B) Hyderabad &\ T (C) Morocco u.’fgf“'/ (D) USA g i

(4) Po(ar dlameter of Earth is:- -;.}50‘5“; (109 (4)
() 12704.5 kms (B) 11000 krns (C) 500 kms (D) 900 kms

(5) Depth of Mariana Trench is:- _‘LJ'/’J é/‘.:pt 5)
(A) 900 metres (B) 800 metres {C) 1000 metres (D) 12000 metres .

(6) Arctic Ocean remain freezed in a year for:- -c‘-t'zu;ufdifd?#‘?y/- 6)
(A) 8 months 174 (B) 7 months st~ (C) 8 months 4T (D) 9 months L5

(7) Name of the famous book of Ibn-e-Batcota is:- -‘arcb’.,mf&!:#w (7)
(A) Kitab-ul-Hind #4107  (B) Rehla b, (C) Shape of the earth :.«/}"Ju.‘.'i (D) Al-Qanoon s

(8) The shortest cistance between the earth and the sun is in- -et‘:f-’wlifc—f CRL DY 8
(A) January « (52 (B) February = (s  (C) June =z (D) July vz

(9) The biggest planet of the solar system is:- - ol K T'uu (9)
(A) Jupiter (5 (B) Earth £ (C)Pluto & (D) None of these & fdde Lo

(10) The smallest planet of the solar system is:- -c‘—u,l:—t"%’c—u./bltf:.:w} (10) ’
(A)Mercury s+ (B)Earth o*; (C) Venus o’ (D) Pluto s

(11) Equatcrial diameter of earth is:- -4‘:-/53’;"‘5/@1 (11)
(A) 12745 kms (B) 1200 kms (C) 1100 kms (D) 900 kms

(12) Total area of surface of earth is approximately:- -< (;./:,:"Jsfb/ ﬁfu:/' (12)
(A) 315,200,000 square kms (B) 200,000,000 square kms
(C) 200,00 square kms (D) 100,000 square kms ’

{13) Minimum of ____ poputlation of the world lives in plains. ~e UL UM ST ﬂlﬂ,d/ b (13)
(A)70% . (B) 80 % (C) 90 % (D)40%.

. (14) The volume of Nitrogen in atmosphere is:- -g)ﬁrﬁl}u :/Luddlm/ {14)

(A) 97 % (B) 99 % C)78 % (L) 78.08 %

(15) Atmosgheric pressure can be measured with:- -g‘:_(}thJng 3 g)ém (15)

(A) Baremeter sz (B) Thermometer 14  (C) Lactometer XA (D) Richter Scale S,
97(0bj)-2016(A)-50 (MULTAN)




| PAPER CODE 2016 (A)

SSC PART- (9th CLASS)

INUMBER: 5121

GEOGRAPHY | OBJECTIVE (%0
TIME ALLOWED: 20 Minutes | | w20 = o
MAXIMUM MARKS: 15 15= 4F

s /Ctﬁfbsw&u:fé...Azcmz_u:u;;uéé.,&védlm{qmm ~LEsD s C B A ALy o
J1 _(ngpw‘i:“'gfufazﬂdl'a):’é Bubbles _§ydib_tzani e Si S Sok L L/qu:/’bu&):.._g i)
Note: You have four choices for each objective type question as A, B, C and D. -QI:J}C;.:«UV{,;{.JV
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or fiui‘ng two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 ,. A Ay
(1) With the increase in temperature, the process of evaporation becomes:- -.f_t'nf b’,,-f'"'c_é_na:gjajl/gz: N
(A) Less ¢ (B) More ssL (C) Finished (D) None of these &fse Lt
(2) Kinds of Tides are:- gz (2)
(A) 1 ' (B) 2 (C) 3 (D) 4

(3) Ibn-e-Idrisi was born in:- Lol (3)
(A) Lahore UZmU  (B) Hyderabad (%LTx> (C)Morocco LAl (D) USA L2g

(4) Polar diameter of Earth is:- < S (@)
(A) 12704.5 kms (B) 11000 kms (C) 500 kms (D) 900 kms

(5) Depth of Mariana Trench is:- -‘géljf J é/‘.:LJL (5)
(A) 900 metres (B) 800 metres {C) 1000 metres (D) 12000 metres

(6) Arctic Ocean remain freezed in a year for:- -‘ctz/#:(u':dlfd@*f/- 6)
(A) 6 months sl.7 (B) 7 months sl (C) 8 months &7 (D) 9 months ol

(7) Name of the famous book of Ibn-e-Batoota is:- -4.((:5’.’«(:6::}’&#@11 )
(A) Kitab-ul-Hind &/’ (B) Rehla L (C) Shape of the earth ..:/:“Jdi') (D) Al-Qanoon /#Ul

(8) The shortest distance between the earth and the sun is in:- -4‘,l:x.b6ﬁ;_(:—.6/r(ut) (8)
(A) January = (s#2  (B) February «($»/ - (C)June <z (D) July < v

(9) The biggest planet of the solar system is:- -‘u/ylzcw(f}w} (9)
(A) Jupiter J (B) Earth %7 (C) Pluto 4 (D) None of these (%l tul

(10) The smallest planet of the solar system is:- ~§—u,lrt‘)‘?.74—-/wj? & (10)
(A) Mercury  w/lbs (B) Earth %) (C) Venus o/J (D) Pluto ##

(11) Equatorial diameter of earth is:- _4‘_/33!::'!(&) (11
(A) 12746 kms (B) 1200 kms (C) 1100 krns (D) 900 kms

(12) Total area of surface of earth is approximately:- -‘L(.(_/;;/JK ff&-jﬁ) (12)
{A) 315,200,000 square kms (B) 200,000,000 square kms
(C) 300,00 square kms (D) 100,000 square kms .

(13) Minimum of __ population of the werld lives in plains. e SUSUIAOLT H:IKJ by (13)
(A) 70 % (B) 80 % (C) 90 % (D) 40 % "

(14) The volume of Nitrogen in atmosphere is:- -q_:x:‘(fs&(f;}'tgﬁ&m/ (14)!
(A) 97 % (B)99 % (CY78 % (D) 78.08 %

(15) Atmospheric pressure can be measured with:- -.«‘-_Jngij;J 3 l,xf.ln (18)

(A) Barometer <z (B) Thermometer /‘dL/? {C) Lactometer /*:,4,3 (D) Richter Scale J:C}g/
97(0hj)-2016(A)-50 (MULTAN)
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